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0, ¥?=16x @32 y = 4x 9R1 GG CFAT CFaPd F07?
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afserg Faca» (A) 1540, (B) 15400, (C) 154, (D) 15.4
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o, I T Pl?
(&) Nm, (B) Nm", (C) Jm%, (D) Js
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ﬁ;hfl?ﬁ AP STHIA:
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90, 6 9 R9% “AFF =P @Ias 94;

(A) 139°,(B) 90, (C) 8¢, (D) 0°

a8. %A IE @ $o2 (A) 1.2 ms, (B) 11.2x103 kms*!, (C)
11.2x102 kms™, (D) 11.2x103 ms!

a¢. 5% e s IR it e
(A) et (B) 1351, (C) =iray, (D) e

qu, GSIEOES T S0 FALH {6 ACF, Gib:
(A) AT, (B) AeTIH, (C) F=13153, (D) Re5IfG

qq, 220 V 553912 913039 T 917 07
(A) 110V, (B) 140V, (C) 220 V, (D) 311 V

b, I (F4 ST F3: (A) BICed ARFICAR 897, (B) 5Itsd [eerd
@83, (C) p7$ (@ AT 8AF, (D) Toicsd > F9

9%, 9% AT FI6R T @1 F92 (A) 7/3600 rad s,
(B) ©/1800 rad s, (C) n/30 rad s, (D) 2t rad s

bro. 7151 <% R-99 A1 (1AM AT (A) 8.31 K, -
(B) 8.13 JK mol, (C) 8.31 JK mot, (D) 8.13 J'K mol-

by, THARIOCAT G0 @ (TS 8 GH6 (G IR T93e! a0
: (A) @R eI o @R, (B) GRS It sioeife @,
(C) Terzg o s, (D) s iies eoit3 SIE0e1F 2ol A2

b, AHF (FIA0 I 9FF AP FF?
(A) Nm, (B) Nm-*, (C) kg ms*, (D) kg ms=2

b, fergl-2ifoferar Jty @i F5 2
(A) 00, (B) 90°, (C) 180¢, (D) 3600

b8, IR AROCS MG 9FF (FAD?
(A) Nmr', (B) Nm2, (C) Nm, (D) m/N

br¢, G BT M sec Tt 4Gl THF e APF S (il
3B 6 sec #It3 BEF Amac ifoo 29| 3 FO?

(A)60.5m, (8) 25 m, (C) 56.4 m, (D) 50.3 m

b, I AR I QR T 34 2@ I 8 SR /Y
et A 2 (A) 1209, (B) 609, (C) 90°, (D) 0°

t-a. 0°C SI={a1ay @At siesTd 519 3x10° Pa zref 273°C Bi+Hary
3 517 2C3: (A) 4.6x10% Pa, (B) 5.56x105 Pa, (C) 6x10° Pa, (D)
3x107 Pa

brbr. 220 V YRR AR 93 90R &) JI70 91 RoEes 110 V
REREIEY TOR &Y IR FIC O Tl 3

(A) @, (B) w3, (C) @3-5g1e, (D) e

9y

o, 25 kg B3 b 387 T 2.5 N 36 ezt e 2 Rfaes
CIo1 SHETIS! 36 I M=

(A) 15.5 m/sec, (B) 4.5 m/sec, (C) 10 m/sec, (D) 12 m/sec

Do, GHTb T (I FI1%F 0.25 Hz (A, 93 Giaiet $0°2
(A) 4 sec, (B) 2 sec, (C) 0.5 sec, (D) 5 sec

>, 11t 5 litre e 127°C Sieiar o 27°C @ A
SIA T, 6T IFF oA L3:
(A) 3 litre, (B) 4 litre, (C) 2.5 litre, (D) 3.75 litre

53, 0.6 H ¥ ot RRFYE 120 +icsq 93t $efico 36 ofte
SR BIFA! T 97 BiIFs T 0.05 wh z7»
(A) 6A,(B) 10A, (C)4A, (D) 12A

50, 2kg 37 kg SC39 7fb I8 G2 CF 5117 Tl 90 AP 4!
el 932 5T '@ 3T T8I (391 6 m/sec (A, G]A @9 FO?
(A) 6 m/sec, (B) 7 m/sec, (C) 5 m/sec, (D) 8 m/sec

8, qPb O (BT 401 31 3| TIPS O G4 128 ohm T
I 314 o e (A) 16 ohm, (B) 8 ohm, (C) 512 ohm, (D) 12 ohm

3¢, PR (T (AT TR 7779 20 oM R (7TH (PII 779
19 em =, 7435 TR TA00 FICH! (A3 IEE F0 703 4O [3?
(A) 1.8m, (B) 2.5m, (C) 2.2m, (D) 3.8m

5u, T YT TFo! 20% 932 BRFI oPm@ 57°C 3@, ToH
ol F5 7 (A) 150°C, (B) 139.5°C, (C) 130°C, (D) 145.5C

»9. 60 ohm Gty 240V FIRA “itad 2 kg +H1fACS 36 ST I& FA
*f1fa Bisfarar 50°C 2o 80°C Bitst Twd 32
(A) 220 sec, (B) 215.6 sec, (C) 180.5 sec, (D) 262.5 sec

sbr, 2P0 (T G AT @Ie J4:
(A) 0°, (B) 600, (C) 90°, (D) 98°

>, (I G @R Fo! +2D e 99 PR Y
(A) 1m, (B) 2m, (C) 0.2m, (D) 0.5m

>00, (T 3 FAIYT (b et g R FATGA e Ry
OICHCE I 2/ G0 WA

(A) SR, (B) WRGA, (C) ST, (D) SRGibRAT

ENGLISH

101. Find the appositive of the sentence “I have read Nazrul, the
poet's work”.
(A) Nazrul, (B) Have read, (C) The poet's work, (D) Work

102. Find the pre-modifier of the sentence “He paid the bus fare".
(A) Paid, (B) Bus, (C) Fare, (D) Bus fare.

103. What is the antonym of the word “Vehement"?
(A) Eager, (B) Passimate, (C) Feeble, (D) Ardent



1044 hoose the synonym of the word “Melancholy”.
(A) i7appy, (B) Elated, (C) Laugh, (D) Gloomy

105. Which of the following phrases means 'to attack'?
(A) set off, (B) set upon, (C) setin, (D) set up

106. Dogs bark; what do asses do?
(A) Bray, (B) Hiss, (C) Croak, (D) Hun

107. One versed in horsemanship is called:
(A) Horseman, (B) Rider, (C) Lancer, (D) Jockey

108. ‘On beahalf of means:
(A) Act upon, (B) Act for, (C) Act to, (D) Act on

109. ‘| did the work' — here ‘did’ is a/an: (A) Principal verb,
(B) Strong verb, (C) Weak verb, (D) Auxiliary verb

110. ‘I know better' — here ‘better’ is a/an:
(A) Noun, (B) Adjective, (C) Adverb, (D) Preposition

111. Which one is in singular number?
(A) Lice, (B) Errata, (C) Phenomenon, (D) mice

112. Which one is in masculine form?
(A) mare, (B) Nymph, (C) Nun, (D) Stag

113. The verb form of danger is:
(A) Dangle, (B) Dangerous, (C) Endanger, (D) Dangerously

114. Fill in the gap with correct preposition: ‘Make the dining table
the design.’ (A) after, (B) against, (C) By, (D) at

115. Choose the correct preposition: ‘The police is looking ___ the
case.’ (A) after, (B) on, (C) into, (D) up

116. Fill in the blank: ‘He seems to better days.’
(A) has seen, (B) had seen, (C) have seen, (D) have been seeing

117. Write the synonym of the word ‘Radical’.
(A) Complete, (B) Superficial, (C) Extraneous, (D) Conservative

118. 'De facto’ means:
(A) As per fact, (B) In reality, (C) By rights, (D) By evidence

119. The word ‘Prolific’ is a/an:

(A) Noun, (B) Adjective, (C) Pronoun, (D) Preposition
120. ‘Fictitious' means:

(A) Full of fact, (B) Artificial, (C) Factual, (D) True

121. A person who writes about his own life, writes:
(A) a diary, (B) a chronicle, (C) an autobiography, (D) a biography

122. 'An early bird' means: (A) a little bird, (B) an early riser,
(C) a short lived bird, (D) a bird that often sees

8/Y

123. This is the ‘go’ of the world. Here ‘go’ is a:
(A) verb, (B) adverb, (C) noun, (D) adjective

124. A modest man doesn not boast ____ his merit.
(A) of, (B) for, (C) on, (D) with

125. ‘Plebiscite’ is a termrelated fo .
(A) people, (B) politics, (C) painting, (D) law

126. Now a days many villagers are it electricity.
(A) by, (B) from, (C) with, (D) on

127. The verb of mourning is:
(A) mournful, (B) mournfully, (C) mourn, (D) mourned

128. Which one is an example of superiative degree?
(A) Least, (B) Less, (C) Near, (D) Out

129. Synonym for ‘Narcissism'’:
(A) Notable, (B) Self-love, (C) Dignity, (D) Admiration for beauty

130. ‘A snake in the grass’ means: (A) A sleeping snake,
(B) A poisonous snake, (C) A dead snake, (D) A hidden enemy

131. I don't have spare time these days.
(A) many, (B) much, (C) some, (D) more

132.'Maiden voyage' means: (A) Last voyage, (B) First voyage,
(C) Late voyage, (D) Early voyage

133. Masculine counterpart of Bride is:
(A) Bridesmaid, (B) Groom, (C) Lad, (D) Drake

134. Antonym of the word ‘Urbane’ is:
(A) Rural, (B) Vilage, (C) Sophisticated, (D) Shave

135. The word ‘off-spring’ means:
(A) Twins, (B) Children, (C) Winter, (D) Fountain

136. Find the misspelt word:
(A) Asthma, (B) Cholera, (C) Tiphoid, (D) Headach

137. A cobbler is a person who: (A) sells shoes, (B) mends
cobbler-stones, (C) mends shoes, (D) expost cobbler-stones

138. The plural form of ‘sheep’ is:

(A) sheeps, (B) sheepes, (C) sheep, (D) ships

139. ‘A’ and ‘An’ are:

(A) definite articles, (B) indefinite articles, (C) both, (D) none

140. Many a flower bom to blush unseen.
(A) are, (B) were, (C) was, (D) is

141. Appropriate synonym for the word ‘coherent’ is:
(A) clumsy, (B) dislike, (C) common, (D) consistent




142 The study of ancient societies:
(A,=-istory, (B) Enthology, (C) Anthropology, (D) Archaeology

143. The noun of ‘deny’ is:
(A) denial, (B) refuse, (C) deni, (D) deniable

144, Singular form of ‘data’ is:
(A) datum, (B) dat, (C) dated, (D) none

145. The jacket costs:
(A) too many, (B) too much, (C) expensive, (D) none

1486. The feminine form of ‘Tailor’:
(A) Seamstress, (B) tailoress, (C) she-tailor, (D) none

147. My younger brother is ____ unversity student.
(A) the, (B) an, (C) reading, (D) a

148. ‘Prior to' means:
(A) after, (B) before, (C) next, (D) none

149. Choose the correct one:
(A) Zelous, (B) Zeelous, (C) Zealus, (D) None

150. What does ‘CV' means? (A) Curricular vita,
(B) Curriculum value, (C) Curriculum Vitae, (D) None
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